/Ih 2 %C( &l%%

{# A #BFEZ

CHTRFLS8ZE HEFL&LI,

M1A=

¥ fidl

319 0=

(2) 1 B§FE =

¥ fid

92 4)1 M5 09=

(1)1 % B

= F8 » F%%E MEETLES.

o

(2117 < B

3 ROBCLKZE HLEHFELLS,

M2EB159r5 1TEBCOREC <

22EK159n5 1BEETORC <

B2BK159Mh5302HDEC <

4 RO BELEEHECLCE MEFLELS,

(

) 2581 h

% MHEFELELS,

7H30%




M2 T BEC & Bf) chz-#2860

1 ICHTRIFLS28ZE HEFL&LI,

2 18= 2 4  |EE (2) 1 B[ = 6 0 7

3) 9 09 = 1 B 30|% 41EEEs509=|110 | &

2 = 8 M FHRE AEFL&S,

(M RBdBEC | % 9K QFERICT<LHEKL FET |7TEHE3 0%

3 ROBEICKE HEDFEL LS,

M 215905 1ERBEORC < 3K 15%

22159, 5 1HEMOEC < 16 15%

2 2B 159D 53 04HTDEC < 1B 4 5%

4 RO BEIEEECCE MrEFLELS,
( ) IZFEIAD FEE OIhETFLLS.




